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ADDITIONAL MATERIALS

The use of a calculator is not permitied in this examination.
A ruler, protractor and a pair of compasses may be required.

INSTRUCTIONS TO CANDIDATES

Use black ink or black baii-point pen. Do not use gel pen or
correction fluid.

You may use a pencil for graphs and diagrams only.

Write your name, centre number and candidate number in
the spaces at the top of this page.

Answer all the questions in the spaces provided.

If you run out of space, use the continuation page at the
back of the bookiet, taking care to number the question(g)
correctly.

Take m as 3-14.

INFORMATION FOR CANDIDATES

You should give details of your method of solution when
appropriate.

Unless stated, diagrams are not drawn to scale.

Scale drawing solutions will not be acceptable where you
are asked to calculate.

The number of marks is given in brackets at the end of each
question or part-question.

In question 9, the assessment will take into account the
quality of your linguistic and mathematical organisation,
communication and accuracy in writing.
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Examing
1. (a) Write down the next two numbers in the following sequence. [2] e
35, 25, 16, 8, . -9
S A
=1 - -2 = Z
i < . =0
(b)  Find the value of 2x + 7y when x = -3 and y = 10. [2]
2(-3) +1(10)
g = 6 +770
{c) Simplify the expression 8k + 3m — 2k —8m. [2]
e R B,
2. Write down 0-4, 15% and 216'”1 ascending order.
You must show all your working. S [3]
[ 7 = ~o
O = U0% =B =350 _
otV o o di

5% %o O-l

Smaillest value » Greatest value

IUNEN
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Exami
onk
3. (8} Reflectihe iriangle below in the x-axis. [
J'J
Iy
i T 1
6
5
4 o~
\ l
3 :
2
%
= 6-5-4 3 2-10] 1 2 3 4 5 ¢ 7
1 :
L
4 i
=T
- 4 f //‘
i | ]
| L AT
" J |
7
(b)  Enlarge the triangle below by a scale factor of 3. [2]

You can dmw Hhe lage Er.‘anj,e
anywhm}

\ kN |

' A All sides
= ol

\ X3

W
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I
(¢} Translate the triangle below 3 squares to the left and 2 sguares down, il o

v v
Move !

mhb;m—-lk

o O |

%)
(5]
T
o))
-l

| I S |

23

i

-~ o

AL
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A fair, six-sided dice is rofled.

What is the probability that 3 4 s shown on the dice?
Circle your answer. [1]

6%

(SN
LR

() 50 rafie tickets were sold st 5 charity event.
Sian has 3 20% chance of winning the top prize.
How nany tickefs did Siap buy?
Circle your answer,

(¢} - Abag contains a mixture of blue beads, yellow beads angd pink beads.
One bead is taken at random from the bag.

The prebability that the bead js pink is %

Which of the following sets of beads could have been in the bag?
Circle your answer

= 5 yellow:

'[pm‘k //

T,
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5. Team A and Team B play in a competition.

Team A has nine more points than Team B.
Team A has four times as many points as Team B.

How many points does each team have? [2]

Teon. 4 Teom B

Team A: \ 2 points Team B: e 3 .......... points

©WJEC CBAC L (3300U30-1) Turn over.
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David, Jane and Mary are beach inspectors.

Three beaches, Harlech, Rhyl and Porthcawl, are all o be inspected on a certain day.

It is decided to share the work so that the inspectors will visit one beach sach, chosen at
random.

(g} Listall the possible different ways they could share the work.
One has been done for you. 2]

David — Harlech, @ and Mheipsy s Buribhand
Dovid>Rhyl  ane Iarleck oy = Rhy
David <> lorthatsl  Tane> fivcon ma}‘be Horech

(b} Whatis the probabifity that one of iHe female inspectors will visit Rhyl?

(21
44— 2 ales Rhyl
2. Fyfemles. go o Aty

I
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)
7. ABCDis a quadrilateral. et

:

Diagrant not drawn fo scale A S

d
Vo to P

4

(@) Calculate the vaiue of x.

Jetlx 4o £90° = 340°

6x _+.90° = 3¢o0° 45

br.=..360-90 (770
bx = 270

ey
r= 0  r= 46
2 ANANAA
(b)  When ABCD is drawn to scale, would the lines AD and BC be parallel or not?
You must justify your answer without using a scale drawing.

Tpx=ts, 2% =q°
e pr'c}q& looks ke

21

Soe AD and BC are J?arq“el "

b
L
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; 413 x 26-6
8. (a) Estimate the value of 987
You must show all your working. [21
&~ LOX 30
200
200
250
>
2
e
e O
{(b) Given that 54 x 84-2 = 4546-8, write down the exact value of each of the foilowing.
%o L Sy Xiexio
0 si0xssz = 454680 o
54°
..o 454-68 oy S . 1
i) YR L}‘ [1]

Exam

I
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w LQ JROX} &‘.

In this question, you will be assessed on the quality of your crganisation, communication and
accuracy in writing. \"\-N\—/_\/\_/\j
In the diag : %
ABCD is a rectangle, and s T 2
NoTICe

PQ is paraliel to AD.

D gom Q gcm - c

gAY
‘F fom or
T

A P B

L’

Diagram not drawn fo scale

The area of ABCD is 52¢m?,

The area of APQD is 20cm?. V7
Calculate thevalues of fand g .
You must show ali your working. 5 CW]

_APQD
gxf = 20

lox2
S XL
GESD Try_l0X2
S S A R
ABCD. : ABCD oo
........ Qrea = 25X | Quren = |8 x2 "
=28 X = 36
T SXl g a =5cm

AL

© WJEC CBAC Ltd, (3300U30-1) Turn over.
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Exam
10. Ceri has a set of cards.
Each of her cards is Iaballed North, East, South or West.

(8) Cerichooses one card at random from her set of cards.
Complete the table below to find the probability of Ceri choosing a card iabelled West,

[2]

Label

Probability

{b)  Cerichooses one card at random from her set of cards.

What is the probability that the card is labelled Eas’iouth? 2]
.................. ) N LV,

(c) Sasha has an identical set of cards.
Ceri and Sasha each chioosé one card ai random from their set of cards.

What is the probability that they both choose a card labelled North? [2]

ECI\JorHﬂ_ ﬂ} Nodh )

= O.L’_ 4 0[7[_
= 0-l6

R

©WJIEC CBAC Ltd, (3300U30-1)
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x2—5x +2, forvalues of x from —1 {0 5.
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S e

2
4
5(3)+2
=I5 +2

2

draw the graph of

1
-2
o

0
2

©)
=

2 —5x + 2 for values of x from

paper below,

(b)  On the graph

[ ).

—1to 5.

¥

i

I

L..Lll__..L...._..l_..L..l_:l_lL:

(3300U30-1)
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Examiner

(c) Draw the line y = -3 on the graph paper. <= Ho T;-Ogta}_hl"‘g th}}i < g
Write down the values of x where the line y =3 cuts the curve y = x2—5x + 2.
Give your answers correct to 1 decimal place. [2]
Values of x are [ .5 and 3 .6
12. (a) Express 700 as a product of its prime factors in index form. [3]
100
U_) 100
N
L4 N
10 10
AW
ONCIUS,
700 = 2x2x5x5x]
2 2
= T wD ¥ 1
(k) The number 33554432 is equal io 225,
Explain how this tells you that 33554432 is not a square number. [1
Squae. aumbers  1aoakd  have
QAN 2ven power 3
25 is nok  even. :
num
o, Th i nd a SqUaR
15 S WJEC CBAC L. (3300U30-7) Turn over.
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Examine:
ny
13. () ¥ anly
i
OJ Ny .
Which one of the following eguations couid represent ihe lins sh in the graph above?
Circle your answer, [1
y==x-2 - y=x-2 =—x.
() Which one of the following points lies on the line 2 2y=3x+4?
Circle your answer. [1
-5 9523 (25 (-2,25)
sheck NIl T
=T ) =3@)+y
0= bt
@ y
5 From the
bei ar\3 ]e
% %"&dt&ﬂ]’
3 Ioco
0 : ] e
o /3 5 9 - 2
, ﬁ . "
What is the gradient of the line shown in the graph above? S!OPQ / So (3
Circle your answer. E 11
3 _3 w2 5 |
2 2 3 = |

LT

B WJEC CBAC Lid.
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14. A whole number je written on a card.
You are given three clues fo help you work out the number on the card,
r Clue 1: Double the number is between 8 and 18 inclusive,
iy
Clue 2 : The numberis a prime number.
i 8 ad 12 are okl
Clue 3: The number is not 3 factor of 100, :

What is the number on the card?
You must show al| your working.

The number on the cardis ...

A

17 ©WJEC CBAC Ltg. (3300U30-1) Turn over.
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Examinzs

of these.

The first one has been done for you.

Formula

d?+hw
dxd

i + e
d+w+h

2nr—mr?

A xw
d+ Bw

a3 + dwh
dvdxd

VoL + Vol

15. In the following formulae, each measurement of length is represented by a letter.

Consider the dimensions implied by the formulae.
Wirite down, for each case, whether the formula could be for 2 length, anarea, a volume or none

13

ormulz could be for

Toilibidig AAsl s e

_...yolume

PErim Qf-ef (lenj“«)

e DORE

ares-

only

T
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;
16. A group of 20 people visited Anglesey for a weekend bresk. .

* 10 of the group visited Beaumaris Castle.
* 13 of the group visited Scuth Stack Lighthouse.
* 4 ofthegroup did not visit either of these places.

(a) Complete the Venn diagram below to show this information.
The universal set, g, contains all of the 20 people in the group. 3]

Castle ~ Lighthouse

A 4

Guess whal number O\e_g n the middle
T Yt gel-i}- wong have anohher quess

unhY  Jou quess XAk
T e s <)

fb) One person is chosen at randorm from the group.
What is the probability that this person visitad only one of the two places? [2]

Tusk CQSHe 5.2 ?.a (L ....................
Tusk_Lighlhaze =& § 0P

S P Juskone p’[cx&) = 9

A

©WJEC CBAC Lid. (3300U30-1) Turn over.
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17. Solve the following simultaneous equations using an algebraic (not graphical) method.

3x+dy= 7] — X
el — 83 % o

C?.x—HEu[ = 2‘[

4

Bx 443 = ol

ADD T = %8s

——— o
7 —
x = § 83
Foon (1)
¢ 3x+l+b\:7
3(5\-1-&;-()\:7
=T o
IS T Lhy="1
L;_kj:'l—-lb'
ky=-8
_______ ==K
....... S el
Y==2
J

U=

Y

U
{
Mo
w

L
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Examint
- I
18. Calculate the value of (5-41 x 10%) + (2:3 x 104). -

Give your answer in standard form. 2]

54000 4. 29000
-

= Sk /OOO

S
B B e —
19. Rashid owned n sheep.
Eifion had exactly 4 times as many sheep as Rashid.
Rashid buys 17 extra sheep.
Eifion sells 8 of his sheep.
Eifion still has more sheep than Rashid.
Form an inequality, in terms of i
Solve the inequality to find the least value of .
You must-show all your working. 2 5]
_Rashid Eiftion
—e e g
n.sheep LN ___sheep
17 extm NAIT Un-8 < 8 shpo,o' sold .

"""""" CpHoN has mare s[mw than Qaﬂucﬂ?

Ln-R > 0417

ho=0.. 2 10+ 8

2L > g5
N.2.2S

3
Ny g7
Le_ao" n value s q

|
i
|
|

{

END OF PAPER

AN
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